www.recrultment «QuUura

ey
|  ATOMIC ENERGY EDUCATION SOCIETY
Anushaktinagar, Mumbai-400 094

2015 - Open Candidates Examination

Post = TOT [Maths/ Physics) Dric -~ 2808 3015
Teme - 1 Hour 30 Minutes Muaxamum Marks - 50
Instructions

L There are 50 Multiple Choice (uestions (MCQ) in this paper, Each queston carmes
| mark, There will be negative marking of 0,25 per wrong answer

2, Answer should be darkened / marked in the OMR answer sheet only,

3. Use of any electronde gadges (e ealeulator, mobile phone, ete.] is not permicted, i the
examination hall,

4. In case a candidate has not signed the Attendance Sheet or the OMR Answer Shest [
nod signed by the Invigilator, it will be dealt with ns 8 case of unfair means

5, On completion of the test, the candidates MUST HAND OVER THE OMRB ANSWER
BHEET AND QUESTION PAPER TO THE INVIGILATOR in the room,/ hall,

6. The candidates should enaire that the OME answer sheet ia not folded ar damaged.

To be filled by the candidate

Name of the Candidate

Foll Number: — .

OMR Numbert

Na of printed pages -9
1

t The Informatiocn provided h=i= iz only for r=fegt=nce. It may vary the Orloginal



https://www.recruitment.guru/

www.recrultment .guru

2015-Open Candidates- TGT (Maths/Physics) - QP

Q.11 what b the domain sed range of the fimetion 1) = of the fnction §{x) = /716 - £7) 4
il o, 4], 10.4]

(b (0.4 |-4.4]
:Ejl_" f"'lliul‘j

(dy[-4.4].1-4.4]

0.7 Fird the maximum velue of =2 + Sind@ |,

(L1 b} 2
feh | [dp-1
3.3) What is the argument of ihe complex number  — | — i@ 2
» -2
i 3 m 3
*n -n
= i =

Q4 A commisies of 7 las o be formed from 9 bovs and 4 girke, (0 how many wayi ¢an iz be
done when tee commites comsisa of o mosl 3 gleks
{a) S

ik} BHE
feh 1035

{dy 1632

Q5) The sum af nlermms of two orithmetic progressons ore in the o (Sr#4): (9m+ 6
Fimd tBe ratio of iheir [ 1erms

o m
L )
5 W)=
i L i i
D e i e T e it
@ = o
H_] H
(=h = ) niwsll
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17} Find the equation of the ine passing ihrough (- 3, 5} und perpendicular to the Tine through the pointed 2
Sl and 3,6 )
(o) xty20=0) ibyr-ve =@
() x+dys D=0 iy §x- y+20=0

1By Find the equation of the hyvperbola i foei | £ 345, 03, the lahis rectum is o lenglh #
{a) ~45%+ Syi=100 b o' 540 = 100
{e) 457+ Byt= 0D i) & - 1657 = k0

05 w1 s kel pnd = 7
i) -1 (LR}
) 2 1di-2

Q0 bet A= Q X and = * be 3 bivary operution on A defined by (a.b) * (c.d) =
(oc brad } Borollf o,b), { c.d) belongs to A then find demity element n AL

[CRR AN i {a.aj)

fey £ 1,1} [CINA N

ullpmf:m"‘i— E) =2

-t L
= iy
© = fly =

Er

T

qaznr a=[] i|  T(x1= % -2x-3 them find the value of F(A)
@[y 3l @y 3

e[} 1l (o[ 3]

KOTEY The [nforsat lan provided liers e anly for refetetncs, T4 may vary Ehes Origtial
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1 14p 1l4+p+yg
Q-H}E I+3p 1+3p+2yg| =1
G4+3p L46p+dg
iah LR
{of 2 idy- 2
Quid) IF Fiays SISl DI wpen 3 #0,F(x)= k when x=Dand F{x)is contiums
x= 0 then the valee of k = %
{aj a-b (hpaet
&b loga+ fog b () lega =log b
.15) Differentiae o with nespect o 3%,
{00 =% [C 1 + logx) logx + ¥] b £ (1 + fogs) logx + 1}

{ch 2™ .1‘.{{1 + logx) logx + %j {d} none of these

Q16 The paints on the curve 93" = 5" |, where the normal 16 the ciirve make equal intercepis

with the sxes are
A &
hizd, = ) Wik =)
3 L]
() (422} 1.4+ 3)

QIm [ JFEE =17 dx 7
(o bog [eostx + 33 + Tcant) + conn)| =
(b log Jeasix — 2 4 fTcosta) + coam)| + ¢
(c)-log feostx + 33+ Geastal ¥ casx| +¢
(it 'Hh“*ﬁ*i’ﬁ’mﬂ
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Q%) [F { VEawT = eoiv jds =2
i 2r ) 4T =
ic) VE 1 0y

iSehve: L conn-yi =1
e = - ye oo L3 =y e

(&) -ain(x-y)l=yic i calt =5y = yoe

QMyIrd+ B+ @=0, |&| =3, |f] =5 and 48] = 7, find the sagicbetween 3 and B,

W 3 (U
© ; i 3
Q.21) I thoe irves 3¢ * < Boxy = Ay = 0 o 4 2y < 80 fioamn am boscelek triangle thes k=
fa) & (h 4
(o) =4 id %
322} Find the manimum valve of | 2~ Sing|.
fard ()
il {d y-1

Q.Z!]&mmlhﬁ?h-mhmhmammdgﬂ;h how many ways can this be
deme when the commince consistsof ntmos 1 gide?
(a) 504 b 8K
feh 1035 id) 1432

Q241 I A b o square matsix of onder 252 and | A | =5, then | Atadia)| =

(AL (e} 20
fx) 25 fdp 30

£2.25) I the sloes of the Hnes ghoen by 317 < oy — % = () @iffer by 4, then the value of k [
i) k=41 (b} el
i) kmsd T} b
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.26} A veotor A painby vessically upward aed a sector I poiits lowanks nerth. The veclor peoduct

ANRIs
i} nbong wirst (b abang ons
{chzem (i} venically downwand

Q2T) A sing wive i travelling in @ medium. A paniculsr particle s zero displacement ot o ceriain nstant,
The partiche closest to o having om0 displocement o af o destance. (4 13 the wavclength)
{af 34 i3
&b 41 (did

.28 The displacemenl ol a parficle in simple hannomic motlen in poe time period is
(A i the smplitude )
[mh A [l 24
[eyaA [y Zéro

3.29) Rays from Sum converge ol a it 13 e in front of a concsve mimor. Where an object should be placed
50 that the size of ity image is equal 5o the size af ihe obec?

() 15 cm an frone of ihe nimoe (bh 30 cm dn Frong o vhe miror

(&) Betvmen 15 cm amd 30 cm I front of the misror (d) More than 3 e in front of the mirme

Q.3 The desirablo properties for making permanens magnets are
{a) High vty and high coencive fonce (b} High retentivity and low coercive force
{c) low retentivity mnd high coercive force {d) low retestivity mnd low coeszive foree

10.311 A capacwing acts as an infinkic resistance for
(o) THT (b AL
() O ms wiith] ms AL i) Mabiher AC nor DC

Q32 Let poand E denote the linear momentum and energy of a ploton, If the wavelenpth is decrsased,
{a) batl pand E increase ) pincreases and E decreases
() p decresses amd I¥ mereanes {d) bt p wnd F deerense

The Information provicdead her= is only for reference. [f may vary ths Original
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01 35) During n nesgative bets decay
() an asomis elecinan (located outaide the nuckous) s gjooted
(B clectron which is already present within the nuclyus [s gjected
() n newiron in the rocleus decays emimting an ehectron
(&) = protan in ihe nucleus decays eminting an clectron

Q.34) Two wectors A and Boare A= 1iv5 k and H-3j +4 k. Their scalir peodisc B
1, 3o b are amit vecars along %y & x ases respectivelyy
fny 20 LA
[£) 5 433 () 26
Q.35) A body falling from & helght of 10 m reboueds from she floor, I it Joses 20 % of the encrgy in ibe
imepasct, Bsow ik will b rebousd?
{a) 10m Hidm
{ep12m fditem

2.36) A body falls frecly from rest usder gravity. 1F Ity spadd is v when & hos last an amount 'V of
gravicationil porentinl eoergy, then rs nuass s
{mmhkﬂnmﬂhm
fa) vgv th Vg
e Vi {d) Vgt

.37) A person cannat see distinctly obsects ket bevond 2 m, This defect can be corrected b wsing & lens of
perer
(a) =0:50 b o500
[e) #0120 {d) =02

0.38) An ideal Camot™s engine whoos efficiency 18 40% roceives heat s 500 K. I the efficiancy 510 be 30%
then the iemperssre of the sowrce for the same tempemture of the sink will be:
(a3 o000 K () Bl B
(e N0 K {dly 15040

.39 A fouliy thermimeter has jts fixed poincs marked 3% amd 95°C The tbermoaneser peads the
lempersiure of the body 2 5970, The cormest tempaeralune on Celsius scabe is
(s} 5¥'C ik} 60°C
i) 4570 (} 54"
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40} A body execuing SHM hus a velosriy 3 ma' when & & distence dm from the mesn posicion- and
4ma when 2t o dlstance ¥ m from dle meun positlon. What s its amplinide of vibeation?
tal i m ih) dm
fe1dm {d) &m

241 The positive x of 5 partiche varos with tinve 1 as x=nt-b’ For what value of t secelerstion ls sam?
Ink Zn/¥h b} wh
fch w3h id} zom

3420 Given A2l 2% and Br=-i-2j+ 2k The unil vector of A-H ks
{i. |, & e unit vectors abong sy & £ axes respectively)
{a) k10 {bp 31D
fe) (N +h Nt Adh =iyl

(143} Apparent weight of & bocly in o 36 will b dowble of its resd webght when
) Lift eomes down with acoeleration g
(b Lift goes up with velocity 4 8 misee
(e} Lif goes up wilh scoeleration g
tdl Lift goes down waih vebocity 9.8 masee

44 Fleciromagnetic cadlation with minlemum wavelengib m
) Ubiravialet rmys by Wisile lght
(e} Infrmred ruys iy Garmms rays

12.45) According 1o Bihe's model of the hydrogen wom. the radiny of the statianary orbit charsctgrised by the
principal quantam namber o is proporional 1o
iabn (bjn
en? iy’

(.46} A conducting circular loop of malius 1 carries & constant current & It fs pliced in & wniform magnetic
Tiedd By soch that By is perpendicular to the plone of the loop. The loague acting on the loop due b the
magnetic feld is

{ahorB, (b} ImirB,
[ ] mirfly

CLAT) A body is theown venlcally upuand with veloeity u. What is the grestest heaght B i which it will pse?
) g ) u' g
o) 'y {d} g
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(148} Toe gravitational fwce between fwn objcts B F o OIF masses of both chijects ane hslved without
changing distance hetwees them, then the gravittbomal force would become
fa) k4 (i) Fr2
eV F W2F

QA% A 10 mm lang pin 15 placed vertically m lrost of 8 concave mirror, A 5 mm oy image of the pn bs
formzel it 3 com Ie frone ol ibe nsimor. The focal lengih of this miror is
a0 3 cm (b) =20 em
) 46 it il 60 g

500 In an eloctricol circuit two resiston off 2 00 and 4 £ respectively are commegted in sexies o s 6 W
bati=ry. The heal dissipated by the 4 L0 recizor in 5 & will be

{a) 8 B} 11
()2 ) 307
Er

ROTH: The Information mrovided her= iz only far relfesenoe. 1t may vazy the= Criginal



www . recruitment . guru

ROTH: The Information mrovided her= iz only

far relferEnoe.

1t may wvazdy the= COriginal



[ www.recruitment .guru

OPEN ADVERTISEMENT CANDIDATES EXAM-2015

TGT {Maths/Physics)

Answer Key

3 1 ¢ [ 28 | A
2 A 27 [=
3 B 28 ¥}
4 D 29 B
5 A 30 A
3 B 31 A
Fi o] 32 A
[ B 33 C
] B 34 A
10 ) 35 A
11 c 36 C
12 A 37 a
13 B 38 A
14 B 35 [
15 c 40 C
16 D 41 c
17 C 42 [

| 18 B 43 £

| 19 D 44 D

| 20 B 45 D
il A 46 c
22 A 47 B
23 ] 48 A
24 | C 43 B
25 [= 50 [3
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